=G OEH-1 RE Hk3~ R~

L@ xcm

2=34+22=13
2cm
x>0 XV

x:\/1—30m

3cm

P =62-22=36-4=32
x>0 &0V

x:\/z:4\/acm

(3) A D

= x>0 J:D
B

x:\/1—8:3ﬁcm

A
(4) A o4 16-4=12
4 \

| x>0 £V

[

B// F/ x =412 =2+ 3cm

(5)
=5 _42=25-16=09
x>0 &0

x:\/—9:3cm
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(6)

A0% = 32 x 6
AO” = 45
40>0 £V

A0 = \[45 = 3,/5

LoT
x=A40-3=3/5-3 cm

2 2 2
7 lcm, 2cm, 3cm 1I"+27=5#3 (X)
32147 =25=5°
4 3cm, 4cm, bcm a4 = = (O)
2 2 2
™~ 1.3cm, 1.2cm, 0.5cm 1.274+05 =1.69=1.3 (O)
2 2 2
- \/Ecm, 2cm, \/gcm (\/—3) +2 :7¢(\/§) (X)
2 2 2 2
(1) A(1, 1), B(3,4) AB=J6—4)+%4—D =J2+3 =,/13

(2) c(-2,-1), D(1,3) (1)=J[1—02H2+[3—04H2=J32+42=J3§:5

<1) 14cm D)

B8 =17
B = 177~ 8% = 289 — 64 = 225

h>0 Iy h = 15cm

(14 +30) x 15

TR = = 330cm2

Frdt =6

=647 =36-16=20

x>0 Iy x:\/2—0:2\/—5

4%2 2
HfE=8x6— Xz\/—s = 48— 4,5 M



(3)

6 h=2:4/3

2h = 6y/3

h=3y3

ﬁ%:5><33:15\/§ em?
A 2 2
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4./ 3cm dem
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ﬁ%zgiégki:8+83

2
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